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‘The function f is defined by the equation above. éx )
> s Which of the following is the graph of y = —f(x) in
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In the triangle above, the sine of angle x is 0.6. H a—— T Z
What is the cosine of angle y? — /4" = 3 O - (
C OJ - — > — X . —t s
5 ~4 —

3) Rotate AALT if A(-5,-1), L(-3,-2), T(-3,2) _,4_ / ( jf- { ) 4) Reflect ATAB if T(2,3), A(1,1),
/

180° clockwise around the origin, then reflect and B(4,-3) over the x-axis, then translate
the image over the y-axis. the image by moving it left 5 and down 4.
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